LV.A-80
LV.A-80-AS

ELESA J& 4% it

X F R B4

- WA e B R B EPA) BRSO EAOR R, TR, b,
fi A B H e A

- AERES, EXWE,

- WA E W RIEN,

- LVARL: R B A 5 e KR R B

- LVA-ASHL: NBRIEAL70 B KA EAR AT B A, M ti,
FHRNEEMGRARERRTEAREE, WLAZEE A wEH, BF
FESSEARTHERLT, REQDHIAL,

- HHWFR (R, £2LE5121),

ALTEALTLAR AR AAAARADS

o b i e e e B e e iy

CCUCLLLELCELELEA ELELEEL R A LA LA LAY

LA

-'H'r'-a--

TR AT A BT, S22 KA,

ATFREE R R 24 TERRERE T E, RLPEEITE d
. Bl RIS, B, TR LR, KARE kY, R i
KT EEET DEMMVIRS, BETEH ARG ATHEY, £ L{;'?
FE e REr, ARG EYE, DEARATHEE AT _ o Lol .
bR, AT

- s \[17/

- ! =

= EI
y 11 f=

. i
Ah A G R+t g | E&P | mF | oo | ==
{45 B = A% B = D L Lig I d | ) s [N] g g
304121 | LV.A-80-14-M8x43 308121 | LVA-80-14-AS-M8x43 76 79 M8 43 83 109
304125 | LV.A-80-14-M8x68 308125 | LV A-80-14-AS-M8x68 80 101 104 33| M8 68 14 14 16000 05 121
304221 | LVA-80-14-M10x43 | 308221 | LV.A-80-14-AS-M10x43 76 79 M10 43 92 118
304225 | LV.A-80-14-M10x68 | 308225 | LVA-80-14-AS-M10x68 | 80 101 104 33 | M10 68 14 14 16000 104 130
304231 | LV.A-80-14-M10x98 | 308231 | LV.A-80-14-AS-M10x98 131 134 M10 98 118 144
304321 | LVA-80-14-M12x43 | 308321 | LVA-80-14-AS-M12x43 7% 79 M12 43 102 128
304325 | LVA-80-14-M12x68 | 308325 | LvA-80-14-AS-M12x68 | 80 101 104 33 | m12 68 14 14 16000 119 145
304331 | LVA-80-14-M12x98 | 308331 | LV.A-80-14-AS-M12x98 131 134 M12 98 140 166
304521 | LV.A-80-14-M16x68 | 308521 | LV.A-80-14-AS-M16x68 101 104 M16 68 163 189
304525 | LV.A-80-14-M16x108 | 308525 | LVA-80-14-AS-M16x108 141 144 M16 108 215 241
304541 | LVA-80-14-M16x148 | 308541 | LVA-80-14-AS-M16x148 | 80 181 184 33 | Mm16 148 14 16 16000 267 293
304561 | LV.A-80-14-M16x168 | 308561 | LV.A-80-14-AS-M16x168 201 204 M16 168 293 319
304621 | LV.A-80-24-M16x58 | 308621 | LV.A-80-24-AS-M16x58 101 104 M16 58 295 251
304625 | LV.A-80-24-M16x98 | 308625 | LV.A-80-24-AS-M16x98 141 144 M16 98 276 302
304641 | LVA-80-24-M16x138 | 308641 | LVA-80-24-ASM16x138 | 80 181 184 4| m1s 138 | 24 24 18000 326 352
304661 | LV.A-80-24-M16x158 | 308661 | LV.A-80-24-AS-M16x158 201 204 M16 158 353 379
304725 | LV.A-80-24-M20x98 | 308725 | LV.A-80-24-AS-M20x98 141 144 M20 98 346 372
304741 | LV.A-80-24-M20x138 | 308741 | LV.A-80-24-AS-M20x138 181 184 43| M20 138 | 24 24 18000 425 451
304761 | LV.A-80-24-M20x158 | 308761 | LVA-80-24-AS-M20x158 | 80 201 204 M20 158 464 490
304781 | LV.A-80-24-M20x198 | 308781 | LV.A-80-24-AS-M20x198 241 244 M20 198 547 573
304825 | LV.A-80-24-M24x98 | 308825 | LV.A-80-24-AS-M24x98 141 144 M24 98 444 470
304861 | LV.A-80-24-M24x158 | 308861 | LV.A-80-24-AS-M24x158 | 80 201 204 43 | mM24 158 | 24 24 18000 616 642
304881 | LV.A-80-24-M24x198 | 308881 | LV A-80-24-AS-M24x198 241 244 M24 198 734 760
CURABARS EHERLERRAT, ENERFEELNREME TRLIREHNTN,
# o4 28 T B R LA BE

“ELESA" and “"GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

& (elesa+BANTER




